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1-  The student should answer 10 questions out
of 13 questions on a condition that he should
answer 4 questions at least from the first 5
questions , then the number of ways for his

answer — ..........
@) °C,x BCq

(® °C,x 8Ce+ 5Cs5x 8Cs
© 5P, x BPR,
@

°pP, X 8P, + °P; x 8P

2

e O AW oy
O Loyio Yoo \¥ e el
e BV e Al g e g

S eIl A
L oz I G a0l

A ° A °
°u><°u +1U><J" @
A o
NS
Jxd

RN ©)
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2- If147X+ 7, X2 4 +x7 =128, AT VYR O 1)
thenthe value of X = ... | P b QYA

CIA 7 (VG o)l - A=alyol) dulinl) A



LN 591 - (A 3oty ¥ ARILY) Al a1 Acuigh g it~ ¥+ YA/ Y IV (oad 5oh8) ) - Zolal) 2y 3L st 5N ALEN B3 L gt el

3- The point lies on the straight line
r=02,-1,3)+k(1,2,-1)i1s....

® (2,5,3) ® (1,1,1)
© (0,0,1) @ (3,1,2)

| e 5 AV 2laid)

(V-eY V) SH(YeN-oY) ="~
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4- Answer one of the following two items: 1 G (5 43800 Gk | e
\1 p
A)IfZ = —, write Z in the = & 8

W Wa T a7

tri tric form then find its cubi
rigonometric form then find its cubic VJW‘UM‘«)&ffJb

roots in the exponential form.

é ol M&J\ J_gJoJ\ .\>-_3\

(B) 1 220209 — (41)2 find the value of ANy sl
the real number k. S8 131 ()
V(Q_S) 0)\ + @\ +)

‘OY-my-\

& sl saal ded dsm sl

AN/ IV QSN yoaJl -
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5-

If°C, > °2Crqthen oo | OBt < st 081

@ r<4 b r>4 i<w@ £>w®
@T<5 @T>5 o<w@ o></‘@
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6-  The length of the diameter of the sphere:
x4+ y2+z2+4x—6y+8z+4 =0
equals .......... length unit

@ 5 ® 10
© 15 @ 20

e e T 5,01 L b

v=EFEANT LT e
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7- The sum of the intercepted parts made oo e shaiall ¢33 bl ¢ gamms

by the plane 6x + y + 5z = 30 with the S seell dlanl 3 DL sl

coordinate axes equals ............ length unit Gl ¥r =80t o+ T

@ 12 ® 30 @ w D
© 31 @ 41 NO) O
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8- Answer one of the following two items:

(A) If A(1,2,-3),B(3,5,-2),
C(m,1,-10m) ,determine the value
of m which makes :

(i) A, B, C are collinear (on the same
straight line)
(i) AB, AC are perpendicular.

(B) ABCD is a quadrilateral in which
A(3,0,2), B(6,2,5),C(4,4,5), and
D(1,2,2)

() Prove that the figure ABCD is a
parallelogram and find its area.

(i1) Find the unit vector perpendicular
to the plane of the quadrilateral.

BN (G B8N (G| (s i
c(¥-cv ) P essis ()
(pVe-eVep) > (Ymeoe¥) o
ez (A o ded (pund

Baslg dalinad Je > o e P ()

—A A

LOohelate > e b

FLIE s> et (o)

ceeveNo(Yer o) b

(YeYeN)sc(octct) >

Solge s > 2 P ISl ol el (i)
.ab-Lqu-jb&M?

S 83508 By ane sl (i)
S SN s

10
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9-  The last term in the expansion of I s e Y1 asd)
2—=x)@+x)%is i s 52 (0 tY) (e Y)

@) x5 b —x5 - © - @
@ _ 10 @ 510 \.w@ "w_@
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10- £ 4B = —3i+ 37+ 7k, BC =] + 5k, R R S A LR
then||AC ||=....... o+ P50
............... —||}P|| ol
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11-  If the two planes : x + 2y + kz = 0,
2x +y — 2z = 0 are perpendicular ,

N | =

: 0L stendd) O 13
pelate c=F V- o+ Y
............... =30

14
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12- Without expansion the determinant ,

Prove that :

a b c
b a c
b ¢ a

=(a—b)(a—c)(a+b+rc)

:QT@?JW\&Q}&

> < P
= P et
P = <
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13-

IfZ = —1 —1i, then the exponential form
for the number Z is ......

Bl OB & - V-2 F G813
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14- r4 ,B € R? then

|AXB P+ (A ¢ B)?=ienn

@ JIA|"+ (B
®4-5]
©x+B|
o

OB 8D T ol

ISI+I7I @
I=-7I ©
IS+TI @

= e

18
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I5- Inthe expansion of (1 + x)& according to
the ascending power of x. If the fourth term
equals 7, find the value of x then find the
ratio between the sixes term and the middle
term in this expansion.

" A . .
G e (oY) S Sae
gl el O 13 Lueladl
sl @ o e sl v sl
adly el sl e Al

2 Sadl a3 JawsY!
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16-  Find the different forms of the equation of
the straight line passes through the point

(—2,3,5) and parallel to the straight line :

x-1 _y+1 z-3

2 4 3

Lasdl slad L) gl dsm sl
(o ev-) dardly 4l i)

V-& = \+u0 = \—uu
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7 (1+2es+ ) (14 20+ 5 )= (o @) (@)
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18- Find the different forms of the equation of | &Jslastial sl sl us s
the plane passes through the point c(£er-e) ) Azl Sl (g gl
(1,—1,4)andthe vectori = (2,—3,4) | &5 (£c¥-c¥) = 0 axzdl

is perpendicular to it .
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19-
Solve the following system of linear plasaly PR ICH RPN Pl o
equations using the inverse matrix: Bsanl) gyl oSl
x—2y=5,2z+y=x,x—2z=-1 e LY o= Y-
Vo= Y- e
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